TER29FE OPTAY—4 HIRIEAL

BF FI5HR T
B |
1|PUERI 34 0.646 379 245
2|FEIWT. C 32 0.620 379 235
3| RTR—YAETS 32 0.589 409 241
4| K1Y/ RIK 31 0.679 336 228
5| BIFF2ST 30 0.580 383 222
6| KERIXHaD=T.C | 28 0.569 360 205
1| K73 KEZFHD 25 0.544 353 192
8|BTT.C 24 0.532 372 198
9|HB1k B 21 0.522 356 186
10{HAWAMOA 20 0.556 367 204
11|TEAM JOY 17 0.469 377 177
12| KR Hi%Fr 15 0.489 364 178
13|Orange Ball 9 0.287 321 92
14(Slider’s 5 0.339 333 113
15| KD E =K 2 0.301 349 105
16[{E E R RLEEFRT.C -3 0.270 315 85
X+ EIAGR T
e | o598 | BEPEIR |
1|1F=EIWT. C 28 0.591 350 207
2| KERIFHRDET.C 27 0.610 341 208
SEEBERISERRT.C 26 0.577 352 203
4|HAWAMOA 25 0.558 355 198
5|Orange Ball 19 0.463 328 152
7|PUERI 17 0.465 340 158
8| Ko 8 0.390 318 124
6(Slider’s 4 0.352 330 116
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Bl = 6 BEH BEE 6 A 2E
AT ILAA AT I)ILA1
— HIE ¥ — B wE
AT 6 =% TFih
B B B B
1 — 2 —
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BE | E158 BF | 158
F— L% F—L%
RO HEWE S VS KiR(ZHaDET. C HBIE L Vs Slider’s
ATILA3 ATILA3
FAgE 183 — INE B O Ll — EE B
BH £ 4 AE 3k i & 2 2%k RE
ATILAR2 ATILAR2
KE FA — X8 HE- MK RE —
BAE 3+ 0 D H—ER Mg 3O 6
AT ILAA AT I)ILA1
=i B — HE #H—ER BHE ER —
R & 0 B &k INEF BEED 6
B B B B
0 - 2 _
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ATILA3 ATI)LA3
iR Eth — HEF X8 ek Ak — FE 13
i B 6 5 7 FIH B =% & 6 2| #EEL EX
ATILAR2 ATI)LR2
=% AHiE — IEE IEAER hE BEE — K Kt
FH = 6 3 A% RE kil 2 6 2 INGEE DN
AT ILAA AT I)ILA1
BT = — A% EE — XA =
ER S 6 0 N 6 @ 7 INE it
B B B B
2 — 1 2 — 1
OPTA—T#EREK OPTA!—J#E8 X
BF | $158 B | #1558
F—L% F—L%
RFFo5D VS hmBIREFT. C TEAM JOY Vs T ||T. C
ATILA3 ATI)LA3
Bk EH — RE B = gk — &E sk
PTER —E 6 1 INEF IR N EE 3 6 KB RE
ATILAR2 ATI)LR2
g 58 — Hef B Ik w2 - MR B8
EH BF 6 1 = B% BE#E Mtk 1 6 EE &b
AT ILAA AT I)ILA1
ZE Hh — +3# =g — #igk BiA
5B =S 6 0 hE EX 6 1 B2
B B B B
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